Stoichiometry

Mole To Mass

Conversions

1.  Citric Acid (H3C6H5O7) is a product of the fermentation of sucrose (C12H22O11) in air.



C12H22O11 + O2  (     H3C6H5O7 + H2O


Determine the mass of citric acid produced when 2.50 mol of C12H22O11 is used.

2.  Esterification is a reaction between an organic acid and an alcohol that forms as ester and water.  The ester ethyl butanone (C3H7COOC2H5), which is responsible for the fragrance of pineapples, is formed when the alcohol ethanol (C2H5OH) and butanoic acid (C3H7COOH) are heated in the presence of sulfuric acid.



C2H5OH +  C3H7COOH  (  C3H7COOC2H5 + H2O

Determine the mass of ethyl butanone produced if 4.50 mol of ethanol is used.

3.  Carbon dioxide is released into the atmosphere through the combustion of octane (C8H18) in gasoline.  From the following equation, calculate the mass of octane needed to release 5.00 mol of CO2



C8H18 + O2  (  H2O  + CO2
4. A solution of potassium chromate reacts with a solution of lead (II) nitrate to produce a yellow precipitate of lead (II) chromate and a solution of potassium nitrate.
a. Write the balanced chemical equation

b. Starting with 0.250 mol of potassium chromate, determine the mass of lead (II) chromate that can be obtained.

